CFR	Action	Respondent Type	Number of Respondents	
7 CFR 272.14 and 7 CFR 273.16	Annual Email Reminder	*Administrative Manager	53	
7 CFR 272.14 and 7 CFR 273.16	Compile, Report & Submit to FNS via email	Administrative Manager	53	
7 CFR 272.14 and 7 CFR 273.16	Information Collection	*Eligibility Interviewer	53	
	106			
7 CFR 272.1(f)	Recordkeeping	Eligibility Interviewer	53	
	106			

*Note: 53 State agency Administrative Managers and 53 State agency Eligibility Interviewer are counted 1 time each for a total of 106 Staff members participating in this da

Estimated Number of Responses per Respondent	Total Annual Responses	Burden Hours Per Response	Total Burden Hours	
1	53	0.167	8.85	
1	53	1	53	
1	53	1	53	
1	159	1	114.85	
1	53	0.083	4.4	
1	212	0.5625	119.25	

ıta collection.

Hourly Wage Rate	Estimated Annual Cost to Respondent
\$50.00	\$442.55
\$50.99	\$2,702.47
\$22.34	\$1,184.02
-	\$3,894.84
\$22.34	\$98.30
	\$3,993.14

Estimated									
CFR	Action		Number of Responde nts	Response s per Responde	Annual Response	Burden Hours Per Response	Burden	Hourly Wage Rate	Estimated Annual Cost to Responde nt
7 CFR 272.14 and 7 CFR 273.16	Information Collection	Eligibility Interviewer	53	nt 1	53	1	53	\$22.34	\$1,184.02
7 CFR 272.14 and 7 CFR 273.16	Compile, Report & Submit to FNS via email	Administrativ e Manager	53	1	53	1	53	\$50.99	\$2,702.47
Sub-Total Reporting		106	1	106	1	106	-	\$3,886.49	
7 CFR 272.1(f)	Recordkeepin g	Eligibility Interviewer	53	1	53	0.083	4.4	\$22.34	\$98.30
	Grand Total		53	1	159	1.083	110.4		\$3,984.79